EARAROBEEIERT — 2 N— IBISH —F

2019547148 (B) 3EIFI8H

EllEsUE5 10005 ¥5%4&E (BA) Uf

E] N>T

‘ [R1&] & ‘ [REBE] — | Z (%) 20000 B

[~®4] 1 7% 15,000,000 @ 2 7 :6,000,000 @ ~ 3 7 :3,800,000 1

4 7% 12,300,000 57 1,500,000

WmEHR MK ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
s 4 | | 1:59.4 3-3-3-1 [34.3(104.8| 2 510 | BE#ENT (EH)
grY—Ib 54.0 ot} 4o | B GlL—s>y
LN=Y7514 B:NZEtE— J=YrTrp—L
4 5 | FlREX 2:00.0 13-13-13-12| 34.4 | 98.4 | 5 512 | EfER (E#)
E/LL 55.0 3 1/2) (o) |EFEAF-NF (T2 ()
R:F4—TA2NT b BTSN J—HrTr—LA
ST . t 5 | M. FL-0 2:00.0 15-15-6-5 | 34.7 | 98.4 | 4 500 | EEMEEA ()
i * 5.0 (7€) (-4) (B) #EL - k-2
LNnN—ErYv— BiLI2E2X HET7—L
.« s . FiBlE : -9-9- EET (El)
ZRALTLY 1L 5 2 2(/(\1(;5) 9-9-9-8 |34.6| 98.4 | 3 <4+9“2) ﬁ*%
R:N—VT754 B:T7RI1YvE Y- () #8a—-FL—->a>@qE77
v 4 5 | RELESE 2:00.0 3-5-4-5 |34.8| 98.3 | 15 | 448 |fREEM— (KH)
Aa-)>7%27— 53.0 (NF) (g |EER
RN—ESTr— BiALI—TI—L KEH S
S s o5 | K2 2:00.0 10-10-9-9 | 34.6 | 98.4 | 7 508 | EEFHfE— (%)
>»a7kyA7 55.0 (72) () | HEES
R:v>NyBhT7x B:7yRKFafR HET77—L
. C. JLAx—Jb . _19-13- FIREX (EH)
W4 T — L it 5 o 2:00.2 12-12-13-12| 34.5 | 96.3 | 1 532 (Ef#ﬂjy S,
(1) (48)
LN=Y774 B:UaiXK-=- J =Y Tr—L
s = — o4 | SHERK 2:00.2 7-7-9-9 [ 34.8] 96.3 | 9 494 | MRKE (BR)
YT —= 54.0 (NF) © | B 5=7 2Kt
R:FATATv— BAUIFLAES Bk e
3 Q 4 5 | FFHRIEKER 2:00.2 14-14-15-12| 34.4 | 96.3 | 13 432 | ELARR=E (ER)
91815 AINA JF— K 51.0 (74%) -16) Eﬂﬂa#?f;
RN=YI54 B:RF4—UrFxys—X H¥RAEHE /—Zex
o R o > 8 | HAWGLF 2:00.2 7-7-6-3 | 34.9| 95.7 | 10 | 482 |FBER (FER)
10/ 7(14| L7 KH1H 7| w0 (F) o) | ) EmA-2L-vry
X.Er/nJ04 B:vteEyra J—YTr—L
o= 44 | fEKIA— 2:00.2 3-3-4-5 [35.0| 94.7 | 6 548 | #RAE— ()
1M1l |RAYTaF 55.0 (7€) -2) R;EEIEEH
:AvizZgr—2 B:avzI 7147 BB
A B = 4t 5 | AHEERH 2:00.4 10-10-9-9 | 34.9 | 94.2 | 12 | 490 |%HW/IIE=E (E#&)
12713 NTE-ZT 27T 5.0 (1 1/2) o |REE
L2 14Fx 0 ML B:hALTFTS V1 [Ea=Fier]
5 S S 4t 5 | HEEAH 2:00.5 1-1-1-2 | 35.7| 91.4 | 8 510 | KEEER] ()
EE 3| YA RNIA—F— 54.0 (7E) 0 | ® $57Ly k0575747
LTANNTTFY— B:v1xhF EvJILy RT77—L4
: o7 | AR 2:00.5 2-2-2-3 [ 35.6| 91.3 | 11 5026 | FIEHS (%)
14/ 510/ 74 7— KA 7 x . 54.0 (7€) (4 | BT
R:wNyBLHTr BRI MT—h i cie )
N N P =Rl : —~16-16- HMEER (E#)
15 Sl eF-LEFLEY [B] > 5| 26 2(70?:? 16-16-16-15| 34.6 | 92.0 | 16 z:(s;z /J\EEEE—(
R:7ROXLTEL B:Ey beHUT Nipse]
S . 4 5 A. Yazlyr = 6-5-6-16 = = 14 462 | BRTESE (EH)
x| 8|16| X T RN AT =2 55.0 (eh1b) Ga) | W) #5TLYKs5T 5747
RRFAT—IE BRARTv—4 EvilLyRT7—L
@ 71 L
) 46.6-34.6
NA>ZA L | 12.3-11.2-12.3-12.0-12.7-12.3-12.0-11.5-11.6-11.5
® I —F—@EBIERL
13—7F— |3,10(2,5,6)16(4,14)8(13,9)12,11,15,1,7
2= = 3,10(2,6) (5,16) (4,14)8(13,9)12,11,15,1,7
Gal=7r= 3,10,6(2,5) (14,16,1) (4,13,8,9) (11,12)15,7
40—+ — (3,%6) (10,14) (2,5,1)8(4,13,9) (15,11,12)7=16
[ N3
H OB 6 380H 714K 6-11 920M e E 3-6 430M JEHE 1-6-11 5,290
8 B 6 170 1-6 630 B = 6-11 2,270M B 6-11-1 23,840
1 340M 1-11 1,2601 | | B B 6-11 3,610
1 240H

ABICOVWTRDTEEERROODE. TR LIV,




